
SAP ABAP table FILCP {FI-LC: Plan line items for object table}

FILCP

RCLNT [CLNT (3)]

GL_SIRID [CHAR (18)]

RLDNR [CHAR (2)]

RVERS [CHAR (3)]

RTCUR [CUKY (5)]

RUNIT [UNIT (3)]

RCOMP [CHAR (6)]

RACCT [CHAR (10)]

RBUSA [CHAR (4)]

ROBUKRS [CHAR (4)]

DOCTY [CHAR (2)]

RSUBD [CHAR (3)]

RMVCT [CHAR (3)]

ADFLD1 [CHAR (10)]

ADFLD2 [CHAR (10)]

ADFLD3 [CHAR (10)]

SCOMP [CHAR (6)]

SACCT [CHAR (10)]

SBUSA [CHAR (4)]

SASSC [CHAR (6)]

AUNIT [UNIT (3)]

T000

MANDT [CLNT (3)]

 FILCP-RCLNT = T000-MANDT 
0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 FILCP-ROBUKRS = T001-BUKRS 
0..N

{0,1}

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 FILCP-AUNIT = T006-MSEHI 

0..N

{0,1}

 FILCP-RUNIT = T006-MSEHI 0..N

{0,1}

T852

MANDT [CLNT (3)]

RSUBD [CHAR (3)]

 FILCP-RSUBD = T852-RSUBD 
0..N

{0,1}

T854

MANDT [CLNT (3)]

ITEM [CHAR (10)]

 FILCP-RACCT = T854-ITEM 

0..N

{0,1}
 FILCP-SACCT = T854-ITEM 0..N

{0,1}

T856

MANDT [CLNT (3)]

TRTYP [CHAR (3)]
 FILCP-RMVCT = T856-TRTYP 0..N

{0,1}

T85A

MANDT [CLNT (3)]

ADFLD1 [CHAR (10)] FILCP-ADFLD1 = T85A-ADFLD1 0..N

0..N

T85B

MANDT [CLNT (3)]

ADFLD2 [CHAR (10)]

 FILCP-ADFLD2 = T85B-ADFLD2 
0..N

0..N

T85C

MANDT [CLNT (3)]

ADFLD3 [CHAR (10)]

 FILCP-ADFLD3 = T85C-ADFLD3 

0..N

0..N

T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]

 FILCP-RCOMP = T880-RCOMP 

0..N

{0,1}

 FILCP-SASSC = T880-RCOMP 

0..N

{0,1}

 FILCP-SCOMP = T880-RCOMP 

0..N

{0,1}

T881

MANDT [CLNT (3)]

RLDNR [CHAR (2)]

 FILCP-RLDNR = T881-RLDNR 

0..N

{0,1}

T889

MANDT [CLNT (3)]

DOCTY [CHAR (2)]

 FILCP-DOCTY = T889-DOCTY 

0..N

{0,1}

T894

MANDT [CLNT (3)]

RLDNR [CHAR (2)]

RVERS [CHAR (3)]

 FILCP-RVERS = T894-RVERS 

0..N

{0,1}

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 FILCP-RTCUR = TCURC-WAERS 

0..N

{0,1}

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 FILCP-RBUSA = TGSB-GSBER 

0..N

{0,1}

 FILCP-SBUSA = TGSB-GSBER 

0..N

{0,1}


